
OHIO 2021-02

Instrukcja montażu
Assembling Instruction

Montageanleitung
ľinstruction de montage

1

A1

A x4 H x1

No 119

strona/page/Seite 3

strona/page/Seite 4

strona/page/Seite 3

B x2 C x2

M8x25 8,5x22

8,5x22

C1

M8x25

No 104

B x2 C x2 D x4

1
3
5

D x1

f30x3

f30x3

No 152

D1

B1

No 47

140

1
6
0

strona/page/Seite 4

1
6
0

830,930,1030

S-5WWI M8x25

1
3

1
3

1
5
0

OHIO



M8x25 8,5x22

No 47B

1
6
0

I1

J1

B x1 C x1

strona/page/Seite 5

OHIO 2021-02

2

strona/page/Seite 5

E1

E x1

E x1

f45x3

f45x3

No 153

No 111D

1
4
5

D x1

D x1

f30x3

f30x3

No 109
G1

strona/page/Seite 6

strona/page/Seite 6

strona/page/Seite 7

strona/page/Seite 8

f30x3

D x1F x1

WW M8x80

f37x3

G x1
35/60f

1
5

0

H1 No 3

1
5
0

No 12

1
5
0

1
5
0



2

C
B

13

B1

4x

1

OHIO 2021-02

3

4x

A1

B x8 C x8

M8x25 8,5x22

A x16

WWI M8x25

A

H



3

4

C

C

13

B

B

C1
2x

9
0

D

2xC1

D

D

D

OHIO 2021-02

4

FDD

B x4 C x4

M8x25 8,5x22 f30x3

f30x3

D x8

D x4

4x

D

D1



5

4x

E1

D

E

6

D

4x

F1

OHIO 2021-02

5

E x4

f45x3

D x4

f30x3



7

8

OHIO 2021-02

6

G1

H1

4x

DF

f30x3

D x4F x4

WW M8x80

f37x3

G x4

4x

G



E1

E1

E1

E1 E1
I1

I1

I1

F1

F1

F1

F1 F1
J1

J1

J1

I1 I1

A1 F1 1x+

C

B

13

1x

+

B1 +

9

H1

H1

H1

J1 J1

D1 1x+

D

E1

1x

+

E1

I1

F1 H1

J1

E

OHIO 2021-02

7

H1 H1

I1

C1 I1

E1

E1

F1+F1



10
G1 H1J1 H11x 1x+ +

OHIO 2021-02

E
D

G

11

E1 F1

3XL SEATER (two parts)

I1 J1

8

4x

12
A x20

x6

I x4 J x4

W M x 2WI 8 5 US 5 x 35 8,4 x 17

2x

A1

A

A1

A1 No 119

H

H1

A

A

H

I

I
J

J



14

15

16

C1

D1

E1

C1

C1

E1

E1

E1

E1

E1

E1

No 104

No 152

No 153

No 47B

No 153

No 153

1
6

0

1
3

5

D1

E1

D1

E1

1
4

5
1

4
5

1
4

5

D1

E1

E1

13 B1

B1

B1 B1

I1

I1

I1

I1

I1

B1

I1No 47

1
6

0

No 47B

1
6

0

OHIO 2021-02

9

D1



17

19

18

F1

H1

G1 J1

F1

H1

F1

H1

G1

F1

H1

G1

F1

H1

G1

F1

H1

J1

F1

H1

J1

F1

H1

G1

No 111D

No 103

No 109 No 12

No 111D

No 103

1
5
0

1
5
0

1
5
0

1
5
0

20

OHIO 2021-02

10

J1
J1

J1J1

C1 1
6
0

830,930,1030
L-830 L-1030

L-1030

L-830

L-930 L-930

L-930
L-930

L-930 L-930

L
-9

3
0

L
-9

3
0

L
-9

3
0

L
-9

3
0

L-930L-830

L-830
L-930

J1 1
6

0



Zachowaj instrukcję / Please keep instructions / Bewahren Sie die Anleitung / Merci de garder ľinstruction

SITS POLANDSp.z o.o., ul.Sikorskiego 60, 87-300 Brodnica,

OHIO 2021-02

11

21


